                                  INSTALLMENT PURCHASE SYSTEM

1. The Madras Transport Company purchased Motor Lorries from the Bombay Motor Company on Installment purchase system on 1st January 2001, paying cash Rs.10,000 and agreeing to pay three further installments of Rs.10,000 each on 31st December of every year. The cash price of the Lorries is Rs.37, 250 and the Motor Company charges interest at 5% per annum. The Transport Company writes off 10% depreciation every year on the cash value of the Lorries on the original cost method. 

Make the necessary accounting records in Journal of both the parties. 
2. XYZ Ltd. purchased a machine from ABC Ltd. on Installment system on 1.1.2000. The total cash price of the machine is Rs.31,960 payable Rs.8,000 down and 3 installments of Rs.12,000, Rs.10,000 and Rs.4,000 at the end of every year respectively. Interest is charged at 5% p.a. Depreciation at 10% on straight line method. 

Prepare necessary ledger accounts in the books of XYZ Ltd.

3. On 1st January 2002 Shakti Oil Company purchased an oil machine on the Installment system. Cash price of the machine was Rs.1, 11,750 and payment was to be made as follows:

      Rs.30,000 was to be made on the signing of the agreement and the balance in   

      three installments of Rs.30,000 each at the end of each year. 5% interest is 
      charged by the Delhi Company per annum. Shakti Oil Company has decided to 
      write off 10% p.a. on the diminishing balance of the cash price.

Give the Journal Entries and necessary accounts in the books of Shakti Oil Company. [Calculation are to be made to the nearest rupee].

4. The cash price of a machine which is sold on Installment purchase system on 1st January 2001 is Rs.50,000. Rs.10,000 are paid down and the balance in four equal annual installments of Rs.11,000 each. It should be noted that each of these installments includes interest on outstanding balance. Find out the amount of interest included in each installment and pass the accounting entries in the books of both the parties. Assuming that the purchaser writers off depreciation at 10% p.a. on original cost method.

5. On 1st January 2003 The R.K Industries bought a machine from Madras Motors on installment system. The cash price of the machine was Rs.26, 350 and the payment was to be made as follows: Rs.10,000 on signing of the agreement and the balance in 3 yearly installments of Rs.10,000 each. Prepare the necessary ledger accounts in the books of R.K. Industries depreciating the machinery at 15% p.a. on diminishing balance method.
6. Mr. Arun purchased a machine costing Rs.40,000 on 1-4-2001 from Maruthi Enterprises under installment system on the following terms: Rs.10,000 down payment and the balance in three equal annual instalments payable at the end of each year together with interest at 12% p.a. on the outstanding cash price. Depreciation is to be charged at 20% p.a. under diminishing balance method. 

Prepare necessary ledger accounts in the books of Mr. Arun till 31-3-2004.
7. Mr. A bought a machine by installment purchase system on 1st January 2001. He paid Rs.6,000 cash down. Rs.7,100 at the end of the first year, Rs.9,600 at the end of second year and Rs.8,800 at the end of the third year. The interest on the cash price is 10% per annum. The purchaser writes off 10% depreciation every year on the cash value of the machine on the reducing balance method. 

Make the necessary accounting entries in the books of both the parties.
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